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CP-1V/CC-VIII(4.2 CG)/(N&O)/23

B.Com. 4th Semester (General) Examination, 2023 (CBCS)
Subject : Corporate Laws
Course : CC-VIII (4.2 CG)
(New Syllabus)

Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any ren questions from the following: 2x10=20
AR @ A P Sy TEd e g

(a) What is statutory company?

ffem rtifa sie ace o

(b) What do you mean by holding company?
caifFee =i Fecs H @A e

(c) What do you mean by private company?

2ARBTSH @I T=re A @A e

(d) What is memorandum of association?

A BT A 2

(e) Who are called promoters?
UGS I I T 7

(f) How is the first director of a company appointed?

criifeg 229 sAfaplers e fAge 22

(g) Mention any two disqualifications of directors.

SHfEBIEFRR (Il 5fb Sratire! Sred 0 |

(h) Define Reserve Capital.
FRAES [T TG WS |

(1) What do you mean by minimum subscription?

Jren +ffe 3ETS A @ran e
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CP-IV/CC-VIII(4.2 CG)/(N&O)/23 (2)
(i) Define sweat equity shares.
TG 2336 oo 3iet wre |

(k) What is meant by buyback of share?
(21 T e (119 & 390% 9 Q@ 2

(I) What do you mean by right share?
SIS (<1 TS @I 2

(m) How many members constitute quorum in a board meeting?

QIS Fafberar ows st 277

(n) Within how many days minute of a meeting is to be written?

FS futaa w0 ffbe -« s dt frics ZJ?
(0) What is convertible debenture?

ANy feraser weire S @

2. Answer any four questions from the following: Sx4=2(

AT T P 5115 27 Twa e ¢

(a) How a private company is converted into a public company?

aﬁmmﬁwwmﬁwﬁﬁmWW?

(b) Explain the registration procedure of a public limited company.

ﬂa%a%ﬁm@mﬁaﬁamﬁ?ﬁ%wm:

(c¢) What is article association? What are its contents?

ﬁﬁmﬁmﬁﬁﬁma@%&%@?

(d) How appointment of director js made in the general meeting?

T 71 1o Mo frarfrs 7=

(e) Discuss the classification of preference shares.
SRR T R cefirers) sz T

(f) What are the differences between share and debenture?

fetewer ¢ crag-az 2 QICE e £

3. Answer any two questions from the following: 10x2=20

ASA @ T 7 2z Teg e

(a) Discuss the legal provisions regarding Annual General Meeting of a company.

wmmwﬁaaﬁ%mmqwmmwﬁw%ﬁmaﬁrmml



(3)

(b) Discuss the rights and duties of managing director.

[T “AfSEEma sl « FEqai wEpa |

(c) What is Government company? What are its features?

A @il #1E e 2 97 AR efE e

(d) Discuss the duties and liabilities of promoter.
ATET -G T € MG STl 3T |
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B.Com. 4th Semester (General) Examination, 2023 (CBCS)
Subject : Cost Accounting-II
Course : CC-VIII (4.2 CG)
(Old Syllabus)

Time: 3 Hours Full Marks: ¢
The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words

as far as practicable.
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1. Answer any ten questions from the following: 2x10=;
|2 @ e il 2 TEa e
(a) What is Job costing?
Frifefes «ifaarm fadm = e

(b) Name four types of industries where job costing would be appropriate.

mmﬁmmmwmﬂﬁmﬁcﬁawﬁwn

(¢c) What do you mean by *Job Cost Card’?
I #ifEra =’ Tmre & @nare

(d) What do you mean by work certified in contract?

oo e @1% 2o e 9 @i

(e) What do you mean by Retention money in contract?

fom =¥ wd z=re § @,

(f) What is ‘Cost Plus Contract'?

#AfZarw st 5= s ae s

(2) What is ‘Process Costing’?
eff a1 AR et oafe &0

(h) What is the meaning of Inter-process profit?
e Are-97 wd o



(5) CP-IV/CC-VIII(4.2 CG)/(N&O)/23

(k) What does the term ‘Profit Volume Ratio’ signify?
"I A weeire’ wfh ) wlesn a5 a2

(1) What is Break-even point?
"O-Ara A R i ate 2

(m) What do you mean by ‘Angle of incidence'?
"WAGA (@Y’ IS N @AM 2

(n) What do you mean by ‘Integrated Accounting'?

Fafes feARmrR @ere 9t @y
(0) What is Cost Ledger?
Afzarn «fenm H 2

2. Answer any four questions from the following:

AR (T (I B1AMG 2na Tea we ¢

; (a) State the features of Job Costing.

arffefes ~fram fada 3 fiEet fge a

5x4=20

(b) From the following information determine the amount of profit from the contract that can be

credited to Profit & Loss Account and also the valuation of work-in-progress:

Rs.
Contract price 12,00,000
Cost to date 7,00,000
Work Certified 8,00,000
Cost of work-not certified 20,000
Cash received from contractee 7,20,000

(35afer o w8ay)

(c) The following information have been supplied by X Ltd.
Current sales = Rs. 1,00,000
Margin of Safety = 30%
P/V Ratio = 20%
On the basis of these information find:
(i) Break-even point, (ii) Fixed cost and (iii) Profit.

(Zeafe o weay)

(d) What do you mean by Margin of Safety? State its implications.
frareiara Rl 3A0s A @I 2 @7 vl Rgs acan |
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(e) From the following data, prepare a Reconciliation Statement to find out profit as per

Financial Accounts: 5
Rs.
Profit as per Cost Accounts 1.45,500
Works overheads under recovered 9.500
Administrative overheads under-recovered 22,750
Selling overheads over-recovered 19.500
Overvaluation of Opening Stock in Cost accounts 15,000
Overvaluation of Closing Stock in Cost accounts 7.500
Interest earned during the year 3.750
Rent received during the year 27.000
Bad debt written off during the year 9,000
Preliminary expenses written off during the year 18,000
(ZA(E 24 w2ay)
(f) What is ‘Point of Separation’? Mention the features of Joint Products. 1+4

HLIRATR 7 T 7 (TUATIR Ry Trad
3. Answer any two questions from the following: 10x2=20
ST (T (I G 26T TEAAE ¢

(a) State the major points of difference between Job Costing and Contract Costing. 10

zrdffefes #faam o ¢ 5= 3w fadf I wo = s el fRge =)

(b) The manufacture of a product involves two processes. From the following particulars
prepare Process I Account, Process II Account and Normal Loss Account for the month of

April, 2023:
ProcessI  Process I1
Units introduced (units) 4,000 —
Value of units introduced (Rs.) 28,000 —
Units transferred to next process (units) 3,600 —
Units transferred to finished goods (units) - 3,500
Materials (Rs.) 8,000 6,000
Labour (Rs.) 12,000 8,000
Overhead (Rs.) 14,000 5,260

The normal wastage in each process is 5% and it was sold at Rs. 6.00 and Rs. 9.00 in the
Process 1 and Process I respectively. There was no opening and closing work-in-progress.

4+4+2
(Z<afs 2r w837)
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(¢) A transport service company is running five buses between two towns which are 50 kms

apart. Seating capacity of each bus is 50 passengers. The following particulars were obtained
from their books for April, 2023:

Rs.
Wages of drivers, conductors and cleaners 24,000
Salaries of office staff 10,000
Diesel oil and other oil 35,000
Repairs and maintenance 8,000
Taxation, insurance etc. 16,000
Depreciation 26,000
Interest and other expenses 20,000

Actually, passengers carried were 75% of seating capacity. All buses run on all days of the

month. Each bus makes one round trip per day. Find out the cost of per passenger-km. 10
(Bl 2l wy)
(d) From the following figures, you are required to pass the necessary journal entries in the cost
ledger under the cost control accounts: 10
Rs.

Materials purchased 3,90.000
Carriage Inward 5,900
Materials issued 3,58,000
Materials returned to Suppliers 2,500
Factory expenses paid 3,52,000
Factory overhead recovered 3,46,000
Production labour paid and allocated 3,48,000
Unproductive Labour 20,000
Materials issued to repairs work 3,100
Cost of completed jobs 13,20,000
Administrative expenses paid 2,05,000

(3erafE opd weay)



